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P(A°)=1-P(A)

O1AR1O] 2hE )
Gaol s P(AUB) = P(A)+ P(B)-P(ANB)
i YEAL O] 2 P(AUB) = P(A) + P(B)
AHE =
C T AT A B
P(B|A)= A I Zoleh et i g b 2loje =i
_ P(ANB)
- P(A)

® oAt =t=EH

A B 5 A
P(ANB)=P(A)P(B|A)=P(B)P(A|B)
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5t ALZH0] 240 H=RI9] 011 CHE AR O] 2ol
0IAIA| QS 1 0 ARIS ME S2l0j2t Bict 3
S Zolls BB 0, AB = A2 S20/2tD et
P(A)=P(A|B), P(B)=P(B|A), P(ANB)=P(A)P(B)
%9
A B JFBligHolet= 21k =Elo]2h= d 22l Helot 0ol

‘ ‘ => HHHFAFH (EO1%1 QICH3
LaI01 OkLLII)
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A11 AZ, Ty A1 E;g—aﬂ =t (Partition)

If Ai"“’A\]: B BEALA
h (AUMU%=Q

A, A, A
B=(BNA)UMBNA)U---UBN
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© 5 == HZ! (Law of total prob.)
B - Al A,A - A Partition
P(B)=P(BNA)+P(BNA)+---+P(BMNA,)
~P(A)P(B|A)+-+++P(A)P(BI A) =3 P(A)P(B] A)

o 0| = H2| (Bayes’ Rule)
AA AT B: AR
P(A|B):P(AHB): nP(Ai)P(B|A1)

"(B) S pa)P(BIA)

(i:1 - ,n)
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